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Instructions -
(1) Al questions are compulsory,
(11} Internal Oplions qre BIVEN i question numbers 6 lo 23,

(it} Question numbers | o S are 32 uhjective Ypes questions. Eaeh ohjectiye
question carries | mark,. |_11:r[=32]

(iIv) Question numbers ¢ W 15 ¢aehy
approximately n 3 words each.

(v)  Queshon numbers 16 1q 19 cach carries 3
approximately in 7s Words each,

(vi) Uuerilit_ln munh_c-rﬁ 20 10 23 ¢agl; carries 4 marks. Answer these Questiong
approximately i 12¢ words each.

(vii) Draw ncat and labelfg dingrams wherever necessary.
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Choose and write the correet alternative -

(1) Identify the central préblem which deals with deciding the
quantity of goods to be produced. ,-
(a)  What to produce f
(b} Tlow to produce
(€) For whom to produce

(ty [‘:I} l"nnl‘uufitflrl technology -IIJ'
rﬂ)‘ﬂ' f{-’}l\".' oof dunm.i&;hf:ng marginal wility is the basis of :
- ) [_‘r"”.: [IL:IL:rIIll!Iﬂllnll (b) Law of demand 'IIJ-
1Ln!ﬁ,:"| onsumer’s surplus (d) Al of the above
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(D Indifference Curve (10) analysis of consumer's equilibrium is based on:

(2l Cuardinal Htilits (MY Demand and supply

(€1 Income and prige (d)  Ordingl uiliy
(IV) Price ratio M P indicates the slope o

) budeer (ine (b hudper ser

(€} price line (d) (a) and (¢) hoth
(V) When marginal Ml is zero. then o utility s

fab  decreasing (h)  mereasing

(c)  constant () muluplyvinge

:
(VD Labour is an example of - {1
(a) A faed Bctor by A variable factor

(e)  demind (d) supply |
(VID Choose the correct alternative. |
P'rofit = ' |
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(€] Revenue » Costs (h Revenme = Costs
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Fill in the blanks :

(1) [Incresse in Laxition ___ supply, .

(i) Elasticity of supply refers 1o uantitative relationship  between
_ and quantity supplied, -

(i) refers to o state ol balinge (quxilihrlunij..

(ivk Per unil cost ol production is el ~ :

(V1 The shape of average cost curve js __j

(vi) The finn is g Price m perieet COmperition,
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Write answer in one sentence -

{1}

Az 3

The functional relationship between saving and income
iy What s the value of APC + ADS? ¥ ‘
Hit) Wame the tay burden of whicl lies an the person who [y gL
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Write the meaning of demand.
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Write the meaning of price elasticity of demind,
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